$$\frac{1}{2} = \frac{1}{2} + \frac{1}$$

be, 10a, 11a, 12

$$6x) \frac{2h}{h^{2}-q} + \frac{h}{h^{3}+6h+q} - \frac{3}{h-3}$$

$$= \frac{2h}{(h+3)(h-3)} + \frac{h}{(h+3)(h+3)(h+3)(h-3)} + \frac{3}{(h+3)^{2}} + \frac{h}{(h+3)^{2}(h-3)}$$

$$= \frac{2h}{(h+3)} + \frac{h}{(h+3)^{2}(h-3)} - \frac{3}{(h+3)^{2}(h-3)}$$

$$= \frac{2h}{(h+3)^{2}(h-3)} + \frac{h}{(h+3)^{2}(h-3)}$$

$$= \frac{-16h-27}{(h+3)^{2}(h-3)} = \frac{-3(5h+9)}{(h+3)^{2}(h-3)}$$

$$10a) \frac{2x}{h^{2}} - \frac{x}{x} + \frac{1}{x^{2}} + \frac{x}{x^{2}} + \frac{1}{x^{2}} +$$

6.4 Rational Equations

* When solving a rational equation, it is often easiest if all expressions have the same denominator

ex.
$$\frac{2}{x^2 - 4} + \frac{10}{6x + 12} = \frac{1}{x - 2}$$

 $(x + 2)(x - 2) + \frac{10}{6(x + 2)} = \frac{1}{x - 2}$
 $(x + 2)(x - 2) + \frac{10}{6(x + 2)} = \frac{1 + 6(x + 2)}{6(x - 2)(x + 2)}$
 $(x + 2)(x - 2) + \frac{10(x - 2)}{6(x + 2)(x - 2)} = \frac{1 + 6(x + 2)}{6(x - 2)(x + 2)}$
 $(x + 2)(x - 2) + \frac{10(x - 2)}{6(x + 2)(x - 2)} = \frac{6x + 12}{6(x - 2)(x + 2)}$
 $(x + 2)(x + 2) + \frac{10x - 20}{6(x - 2)(x + 2)} = \frac{6x + 12}{6(x - 2)(x + 2)}$
 $(x + 2)(x - 2) + \frac{10x - 20}{6(x - 2)(x + 2)} = \frac{6x + 12}{6(x - 2)(x + 2)}$
 $(x + 2)(x - 2) + \frac{10x - 20}{6(x - 2)(x + 2)} = \frac{6x + 12}{6(x - 2)(x + 2)}$
 $(x + 2)(x - 2) + \frac{10x - 20}{6(x - 2)(x + 2)} = \frac{6x + 12}{6(x - 2)(x + 2)}$
 $(x + 2)(x - 2) + \frac{10x - 20}{6(x - 2)(x + 2)} = \frac{6x + 12}{6(x - 2)(x + 2)}$

Your turn pg. 343 $\frac{9}{y-3} - \frac{4}{y-6} = \frac{18}{y^2 - 9y + 18}$ $\left(y-3(y-6) - \frac{4}{(y-3)} = \frac{18}{(y-3)(y-6)}\right) (y-3)(y-6)$ 9(y-6) - 4(y-3) = 18 9y-64 - 4y + 12 = 18 5y = 18 - 12 + 54 $5y = 60 \implies y = 12$

TI.